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Seat No. Enrolment No.:

Gujarat Technological University
Diploma Engineering C to D Bridge Course Examination

Subject Code: C300011 Date: 30- 12-2016
Subject Name: Basic Chemistry (Group 4)
Time: 10:30 AM TO 12:00 PM Total Marks: 70
Instructions:
1. Attempt all questions.
2, Make suitable assumption wherever necessary,
3. Each question is of 1 mark.
4, Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)
5. English version is authentic.
No. Question Text and Option. Y& wal [Aseul.
L. Which of the following has Eight S attached in its molecular structure ?
A. Phosphorus B.  Sulphar
C. Kwartz D. Mica
1. Aol HUA slott @2l sl HL 216 S %lstAet slaL B 2
A glagu B, yexR
C. saen D. s
2. KCI contain........... bond
A.  Metallic bond B. Ionic bond
C. Hydrogen bond D.  Covalent bond
. KCL....od uud 8
A ylleys B. [
C.  asglsat D. e s
3. What is the solid form of carbon atom ?
A. Mica B. Kwariz
C.  Asbestos D.  Graphite
3. slolol URHIY oll tlol aipu sl B ?
A [@st B sas
C. MR D. Jsse
4. Which catalyst is used in manufacture of vegetable Ghee ?
A, V205 B. AlLO:
C. Ni D. CuCl;
¥.  cdoiruld [ [ olottae W sl Gus ol Guallol ul 8
A Vi0s B. ALO3
C. Ni D. CuClz
5. Which is the symbol of Co-ordinate Co-valent bond ?
A B.
c. = D. None
W a0l ue uaAlrs ol [ el 58 B 2
A B.
6. In which bond the collection of water accumulates in cells of animal and plant ?
A. Hydrogen bond B.  Ionic bond
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10.

0.

11.

9.

12.

1R.

13.

13.

C. Metallic bond D. Co-valent bond
ylgll wal cotruld sl 1l W@l ol dols s oitt o el B
A alBglaet ol B allls ol
C s v D us dllws vy
How many valency of Chlorine in the HC1 ?

A 3 B. 4

c. 2 D. 1

HCL HL 5cllRat ofl allorsel 3ecll »

A, B.

C. 2 D. 1

Which kind of arrangement in CsCl ?

A. HCP B. BCC

C. FCC D. None of these
CsClHL s ysiR «fl ollsce(l sl &

A. HCP B. BCC

1F= Columb

A. 96600 B. 95600

C. 95500 D. 96500

1%A3 = oo seol

A 5500 B.  cusoo

C. ewwoo D. ¢suoo

Wax block are used for

A.  Electro refining B.  Electro typing

C.  Metal extraction D.  Electro plating

(et olt oclls ... HI2 AU B

A yld gleas:el B.  sdseletsial

C. g ot Fsegy D. sas@Rol

What is the PH of 0.2 M HCL solution ?

A, 2.6990 B. 23010

C. 03010 D. 0.6990

0.2 M HCLell sled@l [ g & 2

A 2.6¢¢0 B. 23010

C. 03040 D. o.5¢co

Acetic acid and Sodium acetate is an example of buffer solution
A. Neutral B.  Salt

C. Acidic D. Basic

AARs AR wal WSlan AR2e ... W5 Al of GElERWU B ?
A e B aR

C. ARRs D.  a@s

What is the effect of dilution of solution on degree of ionisation ?

A.  TIncrease B.  Decrease

C. Constant D.  All of the above

alall ol He scll RAGSWY vl AUR g wAR U ?
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14.

Y.

15.

.

16.

16.

17.

19.

18.

c.

19.

1¢.

20.

R0.

A qual B.  ged

C. wum 233 D.  @Quz ol sty
PH of basic solution is

A, <7 B. =7

C.  >7 D. None of these
ARs alael B PH ...........

A, <7 B. =7

C. »>7 D. Asuel o8l
Buffer solution is the solution whose PH

A_.  Remains constant B. Increases

C. Decreases D. None of these
0% alclel Ag alall & & ¥l PH ........

A ua 23 B. g9

C o u? D A wg 1@
What is the PH limits of buffer solution NH:OH + NH4CL ?
A. 6-9 B. 911

C. 37-56 D. 1.1-35

0% alelel NH,OH + NH,CL [ »iel 32(@ & 2

s -¢ B. ¢-1qq
C 30-uws D. qq-3u
is polar molecule ?

A. Benzene B. Alcohol
C. Water D.  Carbon tetra chloride
........... ylAa alas B

A QARet B, acslele
C w@ D. golet 221 5ARES
What is the PH of Netural solution ?

A 6 B. 5

c. 7 D. -7

d2 alael @ PH 32@

A ¢ B. y

C. \9 D. _\9

What is the meaning of PIT ?

A. Hilloac B. Puddle

C. Diy D. Well

e RNed g 2

A 253l B wielRy
Cwal D. saql
Arrhenious theory of ionisation is presented in which year
A. 1886 B. 1887

C. 1889 D. 1888
UGEAA vAstalle sAL o ML % sl

A qecs B qeceo
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21.

1.

22.

2.

23.

3.

24.

Y.

25.

U,

26.

RS,

27.

I,

C. qece D qeec

The process of coating on TIN of the surface of iron is known as

A.  Galvanising B.  Electro plating

C. Metal cladding D. Tinning

Alvis @ AUWER U Ret g of Us Uscatdl A ol A4 ....... 58 O

A JedausB@ol B.  gasaaksl

C. Az sABL D. Rt
corrosion is obseeved in rivets and bolts

A.  Water line B.  Pitting

C.  Atmospheric D.  Crevice

Rae sl ollee Hi......... 120 %lal HA B

A Y@ A AA aq B [ERal

C. aldare @ adq D ds i ad

Corrosionrate 1s ......... atmosphere moisture

A. Less than B. More than

C.  Proportional to D. Medium

&R0l oll €2 A AlclaRnl oll @ oll YHIGL all ..........

A g B. ay

Co i yuw D yu ay

........... is the group of C1, Br , 1?7

A. Halogen B. Amine

C. Keton D. Alcohol

CLBr, T ..o UHE B

A ddloget B. et

C. Bt D aueslela

This is not a factor of corrosion

A. Nature of film B. Moisture

C. PH of solution D.  Nature of solvent

.......... 21201 UR AUAUR 5cll uRua a2ll

A QB ol ysiR B Q

C. gaa ol PH D glas ol usl@

The water which give lather with soap is called a water

A. Hard B. Impure

C. Pure D. Soft

% ulel Ao WA SleL wWA da ......... 58 O

A 5Bal B g

C qw D. ot2n

The molecular weight of Ca(CHO3)2 is gm/mol

A 146 B. 120

C. 136 D. 162

S ol stellele oll AUREUR ... oM / Hld &

A qys B. q30

C. q3¢ D. qg2
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28. 1 PPM = French
A 1 B. 0.01
C. 0.1 D. 10
¢, LUdlAH = ... U
A q B.  0.01
C. o4 0
29, PH of blood should be........
A. 735 B. 7.37
C. 7.36 D. 7.38
e. 3@MRSALPH ... Becll [lelBd 8l AlsA
A e3u B. w30
C. o35 D. e3¢

30. Which kind of impurities in drinking water ?

A.  Physicale impurities B.  Biological impurities
C.  Chemical impurities D. ABC
30.  ([at ot well 1 58 g glal 1A B
A olllds wylR B.  glas uyR
Co s wuyfR D aAB.C
31. Full from of PPM is
A.  Part per minute B.  Part per million
C.  Part per mole D.  Part per molarity
3. ULULAAH of Y3 ol ........
A yed wr AEe B ey wr RlAast
C yed w2 dad et uR HlARR
32. is not the type of corrosion
A.  Atmospheric corrosion B.  Concentration cell
C.  Electro chemical corrosion D. Drycell
32, e atrel ol st ol
A aldiare ol ad B gl sl
C.o dlla mua@s Do y8l alw
33. Which kind of impurities we can’t see at open eye ?
A. Colloidal impurities B.  Suspended impurities
C. Dissolved impurities D. None of these

33, Wl ol saw yst? ofl ugyetll ugll avtd o3 uid A wstdl otell

A sldlda vy B. el mglA
C alca ugyfR D. fQsugl o3
34, How many percentage of water is in fruits and vegetabels ?
A, 90-93 B.  90-92
C. 9095 D. 90-94
3%, 500 dal ausewy Hi secl 250 ¥l will of sl slal 1A B
A eo-e3 B. ¢o-e¢2
C.eo-eu D co-cx
35. in the engine of air craft which lubricant is used ?
A.  Synthetic lubricant B. Liquid labricant
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34,

36.

36.

37.

39.

38.

3¢C.

39.

40.

¥0.

41.

¥1.

42.

C. Solid lubricant D. Semi solid lubricant
Sl w5l WloBel UL 520 wle5 AU D

A yieAdls wles B, yauld wles

C. o wles D. 2w uol wles

As surface area of cathode increases electron consumption capacity..........
A.  Increases B.  Decreases

C. Constant D. Increases Decreases
5als oll U3 AR aw? AH AR SAslet alsel sl AL ... &
A @ B. g2

C.  uua D. g -«

Valancy of carbon is

A 2 B. 4

C. 1 D. 3

slolet [ A5l ... 3

A o B.

C. q D. 3

The level of free chlorin in drinking water is no more then PPM
A, 1lto2 B. 0.01t00.02

C. 0.10t00.20 D. 0.1t0.2

Ul ctas well Wi Ysd selldlot of Yl ........ YLlAun 8l aug AlsA
o3
A qgle B.  0.014lo0.0%

C. op.ao04dlo.20 D. o4q4lo.?

In water line corrosion the metallic portion which remains in contact with air acts
as

A. Cathode B. Electrode

C. Anode D.  Salt bridge

well ol olA aclt el Hl g scll ol AUE ML @ A ......... W B
A Jalls B.  gdsels

C. Ralls D az &g

The general formula of Alkynes is

A.  CoHm B. CnHonez

C. CnHus D. CnHoapo

ULEELTol of AHIRL YA ..., 8

A. CnHon B. CnHoawe

C. CnHzus D. CnHza

The hybridization in which One S and Two P orbitals take part is called
A. SP B. SP?

C. Sp D Asugl «1dl

B ASWL HL A5 S el ol P sasl ol & dat ... 58 B

A. SP B. SP?

Which method is not used to make soft water ?

A. Lime soda B. EDTA

C. lon exchange D. Zeiolite
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¥R.

43.

¥3.

44.

¥Y.

45.

Y.

46.

¥S.

47.

¥9.

48.

¥C.

49.

¥E.

56 Werlld well ol ota wetietale{l e otell

C. et Qelua D sfl:cuse

........... is use as a fuel in diesel engine

A. Kerosine B. Gas

C. Diesel D. Petrol

Slcd Be2ot oll WAl A2y ... ol Gluallol a 8

A 3RAlet B.

C.  dlaa D. Qae

Which of the following is amine

A. CH:iNH; B. CH3;CONH;

C. CH3COCH; D. CHiOH

o{lAotl Hifl Bt 520 &

A.  CHsNH» B. CH>CONH?

C. CHiCOCH; D. CH:0H

Viscosity of liquid lubricant is demoted in.....

A. Minute B. Hour

C. Lenth D. Second

Yoll@ wlss ofl Gelouell .......... HL eallelettHt 4 B

A AR B.  seus

C  aqug D. Ases

Which toles is useful for lubricant fire and flase

A. Pensky Martens B.  Viscometer

C. Refractometer D. Ameter

165 oll WL el eLsst (olg ol Hiust 12 s AlMet ol Gullal WA B

A Qordl Hdlet B. (a8l Rz

C.  (R¥sa ez D.  f@ez

......... show aldehyde group

A. -COOH B. -OH

C. -CHO D. -COOR

....... AUESLELBs UHe ewd &

A. - COOH B. -OH

C. -CHO D. -COOR

Flase point of good lubricant should be

A. Moderate B. High

C. Low D. Toolow

AR Yellld wlss of esst [olg ... 8lg Hlsl

A yygl AR B. @y

C oy D dgat olly

Bakelite made from

A.  Phenol + Methanol B.  Phenol + Urea

C.  Phenol + Acetone D.  Phenol + Formaldehyde

Adcuse ... Hill wal B

A (Zellel+ Aaolla B (Zelld + yRa
D.

C Reld + Alalet

Gollcdt + sHlBelss
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50.  From Which polymer blanket is made by ?

A. Orlon B. Teflon
C. Epoxy resins D.  Poly styrene
uo. odode sal AR Higdl elollacl 21d &
A ReAlo B 3scllot
C. QUEA 2l D. Q@ dlet
51. is the monomer of poly ethylene
A. Mithylene B.  Propylene
C.  Styrene D. Ethylene
ua, Wl sdl@et ol HlellHz .........
A Rel@et B. Y@t
C wadd D. gl@st
52. What is used for vulcanization of rubber
A. Sodium B.  Oxygen
C.  Sulphur D.  Phosphorous
UR. R0R ol dGheUS Rt HIZ 9 duAA B
A ddlan B 5ot
C  yasg D. gegeut
53. When a very large chain is formed which is called
A. Dimer B.  Polymer
C. Monomer D. Trimer
U3, AULEL AL Al wlsiAal sl da ... 58 8
A sIBuR B q@we
C Qer D. a2
54. Which chemical used to binding two surface ?
A. Lubricant B.  Plastic
C. Adhesive D. Rubber
wy, ol yudlalal olsal sall uelsdl o duRla § 7
A eles B wardls
C. duolt verdd D wR
55. Monomer of natural rubber is
A. Poly isoprene B. Isoprene
C.  Neoprene D. Pentene
W, e, A el 204R oll HlollHR &
A el ausAYlet B ausalylet
C. [Ralet D. Qetdlet
56. is a co-polymer
A.  Decron B.  Poly ethylene
C. PVC D.  Poly propylene
WS, e U As As wlgues B
A 3sslet B. Qe sdl@et
¢ PVC D el Yuellot
57. Which of the following is monomer Teflon
A. CF.=CF: B. CF:-CF:
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ud.

58.

uc.

59.

60.

50.

61.

51.

62.

5.

63.

53.

64.

C. CH;-CH; D. CH;=CH;
ol Aot Higll sleL 25cllot oll HlellHR FY lovud B
A, CF:=CF: B. CF:-CF:
C. CH;-CH: D. CH;=CH:
Regarding strength o- bond ........ m-bond

A = B. <

C. = D. >
Horofellt A ajedellol o oltd ........ m- 6lYL

A = B. <

C. = D. >

The mixture of water and oil is called

A.  Saponification Emulsification

B.
C. Emulsion D.
well Ael ddd ot Asaal ... 58 8

True solution

A Ulys0L s B yarlls2e wis
C. wau D ay aag
What is called required milligram of KOH to produce soap from oil ?
A. Emulsification Number B.  Acid value
C.  Neutralization Number D.  Saponification Number
det 1l Ao setlaal %33 KOH ot A@aun o g 5& 8
A yrallsael wis B. AR wis
C delAs20L uis D aysee s
are vegetable oil,animal oil and mineral oil
A.  Synthetic lubricants B.  Solid lubricants
C. Liquid lubricant D.  Semi solid lubricant
aotruld da |, yells da ual wellr Ad ... 8
A didls wles B ot wies
C. yaul wies Dt uot wles
Carbon of methane molecule has hybridization
A. SP? B. SP?
C. SP D. DSp?
Mot wg 1L B SL6lot ........ UsW A B
A. SP B. SP?
C. SP D. DSp?
in not the example of coaqulation ?

A.  Alum powder B.  Ferrous sulphate
C. Ammonium sulphate D.  Bleaching powder
......... A Weol of GeleW aell

52505 B Yeu ucke
C. AQRan ucke D. ol was?

is used in sewing machine

A. Solid lubricant
C. Boundary lubrication

ow

Fluid film lubrication
Synthetic lubricant
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5%.

65.

SU.

66.

§6.

67.

539.

68.

5C.

69.

5¢.

70.

90.

el AuL Hi......... duAA B
A“ thﬂ *ﬂés B.
C dlauadl asat D.

is semi-synthetic fiber
A.  Cellulose nintrate B.
C. Orlon D.
........... WY digcdls L B
A Ayl ousge B.
C. alrclst

is used for Book branding
A.  Casein glue B.
C. Blood albumin glue D.
o5 WlBlBol WL ....... Gluallol L B
A Bllot ¢ B.
C. 25 wcoylot 9j€R D.
Polythen is a polymesisation of
A. Themosetting plastic B.
C.  Thermoplastic D.
Ulellellet A ... wgues B
A did ald B.
C oy youa D.
......... Name of CHa
A. Ethen B.
C. Propane D.
CHsof ollH ........ 8
C. et
Butadiene + Styrene =
A. Buna-S B.
C.  Poly styrene D.
e2lsiol + AR = ..........
An (icu__s B.
C Q@ @Rt D.
Buna-N is a rubber
A. lonic B.
C. Natural D.
ool — N ........... YSIR of 012 B
A AR B.
C- § E e <-ﬂ D.

ARE US wlel
Ueels wes

Nylon
Terylene

sllAclel
23ellot

Animale glue
Vegetable glue

yelles 2jeR
clotuldl o2l 3jER
Thermosetting plastic and

Thermoplastic
None of these

dld UM ol dlu Yelid
A5 ULl ol

Methane
Nonen

Mt
GG

Buna-N
Neoprene

ool — N
Ral[et

Semi synthetic
Synthetic

A RARS
Rl-2Els

SRRk stk R Rk Rk R R
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